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hapter 1:Real Numbers

ollowing is a real number?

AN

1418 SOCrt BADLO BY

YA

he sum of two rational numbers is always:
ational
rational
ole number

5. The product of arational and an irrational number is:

b) Always irrational

Answer: b) Always irrational



6. The square root of a non-perfect square is:
a) Rational

ndefined
wer: a) Rat

he product of two irrational numbers is:

B rf BADLO uv WA & D

al

ional, s irrati

The sum of arational and an irrational number is:
lways rational

c) £10
d) None of these



Answer: c) £10

wer: c) +11

SOCrt UA[)LO uv WA & D

The vaIu]of 50 j v l

one of these
wer: c) 1

ich of the following is NOT a rational number?

a) Rational
b) Irrational



c) Integer

Answer: b) %

The set o bers is:
losed unde
losed under ation

losed under subtraction

Noftheadok®@ C *{ B ADLO BY waap

wer: d) All of the 3
The squ root of rfect sq always:
ational ] &

rrational

hole number

oth (a) and (c)

er: d) Both (a) and (c)

AN

b) Irrational

d) None of these

23. The reciprocal of an irrational number is:




a) Always rational
b) Always irrati

tional, sometimes irrational
ese
C) Sometimes rational, sometimes irrational

ollowing is always irrational?

wer: a)5

The deci
.333...
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.3333 (stops afte S)

.35

wer: a) 0,333...

If x = 3.141592653589..., then x is: 4
ational

rational
ole number

al n of 1. i \

28. The sum of V2 and 2 is:
b) Irrational

d) None of these
Answer: b) Irrational



29. The prod any nonzero rational number with an irrational number is:

hat is the value of 2V25?

The cube root of 27 is:

Answer: a) 3
34. If a number is squ

b) Negative
c) Zero



d) None of these
Answer: a) Positi

erminati
epeating

one of these

c) -7
Answer: a) £7

40. The product of two negative real numbers is:
a) Positive



b) Negative

23 and -\3 is:

-00

o0 smallest real number exists
wer: d st real numb

The decima
5

SOCrt BADLO BY wmap

wer: a) 2
Ifx=4 =-2,then x/y is:

Answer: a) 0.666...



46. If x is a nonzero real number, then x° is always:
a0

of the following is NOT a real number?

wer: ¢) v

The cube root of 125 is:

Cri BA2aDLO uv WA & D

LVE

The value of (-5)?is:

c) 81
d) 50



Answer: d) 50

54. The sum of V2 and V2 is:

AN

wer: a) 2\2

SOCrt BADLO BY wap

TV

wer: b) -27

=landy=-1,then x +y is:

a0
b) The number itself



¢) Undefined

Apswer: a) 0.25

g Squ;MCh num
0 : — A
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apter 2: Logarithms

the value of loga 1?

ayaly
Answer: b) ay

hat is lo
ndefined '
: plady

SOCrt BADLO BY wmap

wer: b) Undefine

hich of the followi aloga unctio
= 2"X ,

=log, X
= X2

6.loga(mxn)=7?
a) logam + loga n



b) loga m - loga n

AN

BADLO BY wrarp

c) 125

Answer: c) 125



12. If logy (x + 3) =4,thenx =7

=2,thenx="7?

(x-1)=2,thenx="?

AN

x =3/

0(2,'H BADLO BY wap

Solve: Iogs
6

2

The graph of y = loga x always passes through which point?
1)

a)y =2"x

Cc)y =e"x
d)y =10"x



Answer: a) y = 2”x

ns to the graph of y = loga (x - 2)?

2 units right

da>1, then:

AN

wer: a) X > ) a
y SyO(;v_< BADLO BY mar

The pH of a soluti iven b =-log [ {* o= [

is the pH~

wer: c) 6

e intensity of an earthquake is given by R =10g4o (E / Eyp). If E = 10,000

c)4
Answer: c) 4

23. The population of a bacteria culture grows exponentially. If the population at
time tis given by P = 1000 x 2*t, what is log, P?



a) log, 1000 +t
b) log, 1000 -

+ t)
1000 +t

logio b /l0gs0 @
gab/log_ba
og ba
wer: b) |

If logz x =4, t =7

SOCrt BADLO BY wmap

What is log4o 1000007

d)x/y
Answer: a) X +y



29.Ifloga 2 = and loga 3 = 0.477, then loga 6 = ?

loga y = 2, then loga (x/y) = ?

. Which transformation occurs when y = loga (x - 3)?
a) . Shift left 3 units

hift rig
hift up 3
hift down 3
wer: b) Shift

nits |

Thedom&&y@.'lob!xi“ AD0LO BY maap
>0
<0
£0

The range of a logarithmic function y = loga x is:

d)y
Answer:c)y ER

34. The logarithmic fu

b) Decreasing
c) Constant




d) Undefined for x >0
Answer: a) | ing

seofy =logz X is:

7,then x =7?

6
0

Wer:b)lso (— by

If logqo X

AN

BADLO BY maarp

l0g10 5,

Answer: a) x < 10

40. If logs (X +4) =logs (2x - 1), then x = ?
a)2



16 in binary system?

The Richter
inear functions

ogarithmstcﬂo'n! {

uadratic functio

sures/e e g:

BADLO BY wrarp

ctions

The pH scale is based on:
inear functions
ogarithmic functions
dratic functions

45. If a sound has an intensity of 10° times the threshold, its decibel level is:
b) 40 dB

d) 60 dB
Answer: d) 60 dB



46. Logarith used in computing for:

y management
ption algorithms

AN

logab=3,fdfa+d BADLO By wmaarp

If
Al

logs 2 is equal to:

Answer: a) 0.5



Chapter 3: Sets and Relations

f, well-defined objects
bers only
in order
on of things
1 of well-defined objects

of all beautiful paintings
e set of all interesting books
Answer: b) The set of all even prime numbers

he symb
niversal se
ower set
mpty set

nfinitesetS QO C vt BADLO BY MAAD

wer: ¢) Empty se

er: b) Cardinality

AN

of ele

b) Z

d) R

6. A set with only one element is called:
a) Singleton set



b) Null set
c) Finite set

ingleton set

ing all possible elements under consideration is called:

roper subse
uperset of B .
nivercaasaEtry 3 A DL O B ¥
ull set
wer: a) Proper su

B

initely many el

nfinite set
ingleton set

11. AU B represents:
a) Elements in A and B

c) Elements in either

Answer: c) Elements in either A or B or both



12. A N B represents:

t of aset A is denoted by:

1,2, 3} and B = {3, 4, 5}, then A N B is:

If A and B are disjoint sets, then:

nB¢ i BADLO BY WA & D

L AD |

Venn diagrams represent:
umbers only
hs onl

elations between sets

a) Universal set

c) Finite set
d) Singleton set



Answer: b) Empty set

ave no elements in common, they are called:

in AUB UC inaVenn diagram represents:

A Venn diagram with three overlapping circles represents:
wo set
hree set
singleto

null set
ee sets

RSN BADLO Bl

A relation.is a:

onnection betwe sets

ubset of Cartesian uct

unction p >

andom collection of numbers
wer: b) Subset of Cartesian product

AN

-

e Cartesian product of A ={1, 2} and B ={a, b} is:

a) Infinite set
b) Finite set



c) Singleton set
d) Null set

ite set

= X2, then fis a:

AN

ingleton set

mpyset3 Q C vt BADLO By mAap

y inite se
The relation "is the her ol

b) Symmetric

d) All of the above

29. The power set of {1,2} is:



a) {9, {1}, {2}, {1.2}}
b) {{1,2}}

a) {8, {1}, {2}, {1.2}}

equal sets, then:

wer: a){
If A and such'th

SOCH BA[)LO uv WA & D

- VAW

IfAUB A N B, then:

a, b}, then the number of elements in A X B is:

d)5
Answer: b) 6



35.1fn(A) = (B)=3,thenn(AxB)="?

lowing is an idempotent law?

. The associative property of union states:
a)AUBUC)=(AuB)uUC

A\ U (B = ync

AUB=A

ANBU ucC ;
swer: a) AU ( AUB)U el

Which of e€3iIbwikd is te SstribdivEbrofdrty o dfs7® P

nc)

swer:a) AN(BUC)=(ANB)U(ANC)

In a class of 50 students, 30 like Mathematics, 20 like Science, and 10 like
he humber o jden vho like only Mathematics is:

c) 30

many like only coffee?
a) 20



de \region in a Venn diagram of A - B represents:

00 elements
eleme
wer: a) 4

A relation R is calle
a,a)eERforallaeA

abyeRidpkes b, Herli 2 DL O B v

a, b) e Rand (b, ply (a
a, b) € R for all a,
wer: a) (aja) ERT a€EeA

A relation is symmetric if:
a, b) e Rimplies (b, a) eR
a,b)eRand (b,c) eRimply (a,c) ER
e RforallaeA

AN

45. A transitive relation satisfies:

b) If (a’, b) € R, then (’b

d)(a,b) g Rforalla, b
Answer: a) If (a, b) e Rand (b, c) € R, then (a,c) ER



s reflexive, symmetric, and transitive is called:
ce relation
ne relation

s the power set of A, then n(P(A)) for A ={1, 2, 3} is:

“48. The number of subsets of a set with n elements is given by:

AN

If A and Baré3efs stiéh tHdt B, thefh uUBisT WA O P

wer: b) B

If A and B are finite sets with |[A| =3 and |B| = 4, then the number of relation




Chapter 4: Factorization and Algebraic Manipulation

e following is a factor of x2- 167?

ver: a) (x +5)(x +5)

he factors of x2 - 8x + 12 are:

BADLO BY wrarp

he factor dform 2js: i
+b)(a-

a-b)a-
+ b)(a -

2+ 2ab + b2
wer: a) (a + b)(a-b)

c) (9x - 25y)(9x + 25y)

Answer: a) (3x - 5y)(

a) 5x
b) x



C) 5x?2
d) 10x

atest common factor (GCF) of 6x2y, 9xy2, and 12xy is:

of 14x2 -2

SOC* BADLO BY

wer: a) 7
The hlgh%t comr‘tor l(zy,

b) a2 - 2ab + b?

d) a2 - b2

12. The identity for (a - b)?is:



a) a2 - 2ab + b2
b) a2 + 2ab +

a) a2 - 2ab + b2

r(x+y)x-y)is:

wer: a) 1

The value of

6 SOCrt BADLO BY wmap

- VAR

The factors of x2 - 11x + 30 are:

17. The factors of x2 + 3x - 28 are:
b) (x + 7)(x - 4)

d) (x +6)(x +3)
Answer: b) (x + 7)(x - 4)



(hen x2 - 4x + 3is divided by x - 1is:

“20.1fa+b=12and ab =27, then a2 + b2 is:

AN

The factotd dek2Casxi+sdard DL O B v

-8)(x -7

Answer: a) (X + 7)(x +7)
23. Which of the follo

b) x2+ 7x + 10
C)X2-5x +6



d)x2+3x +2
Answer: a) x2

rs of x2-18x + 81 are:
5x - 3 are:

on factor (G

AN

)\:ver:b)SSO(.;H BA [)lO BV

The common fact asb + 5ab i
ab
5azb P

Oab?
b
wer: a) 5ab

C) 24x
Answer: a) 12x

29. The highest common factor (HCF) of 18x2y, 27xy?, 36x2y is:
a) 9xy



on factor of 5x* + 10x3 - 15x2 is:

The iden
- b2
2+b2
2+2ab+b2

2.2ab + OCH UA[)lO By mAap

wer: a) a2
The vaIUjlof (10 -‘lg an i is:

d) 256

35. The factors of 5x2 + 14x + 8 are:



a) (bx +4)(x + 2)
b) (5x + 2)(x +

a) (bx +4)(x +2)

X2-21x + 110 are:

UA[)[O BY WA O p

+ 3)(6
6X - 5)(X + 2)
wer: b) (3x - 2)(2x

The remainder when x2 - 7x + 10 is divided by X -2is:

40.If a+ b =18 and ab = 80, then a2 + b2is:

b) 196

d) 100
Answer: a) 164




2x + 5 has how many solutions?

~ Answer: a) One

he equation 2x + +1)+
lways tr
lways ES

rue for one value of x
as no solution
wer: a) Always true

Answer: b)x2-4=0

6.1fx-3=7,thenx="7?
a) 10



of 2(x - 5) = 4 is:

wer: a

4x + 3 =2x nx="~2

SOCrt BADLO BY wmap

wer: d) 4
The equ x/2 + 3= 7 simpli

=6

i , then X is:
a) Greater than 4

c) Equal to 4

Answer: a) Greater than 4



12.1f 2x -5 <9, then x is:
a)xs7

-2 <5is equivalent to:

9, then x is:

>-3
<3
>3
Wer: ¢) x

Thelnequall x/4 > 3 simplifies to:
>12 (,'H BaDLO BY WA QD

>-12

<12
<-12
wer: a) > .

A number is 5 more than twice another number. If their sum is 29, what is t
[ler number?

Answer: c) 8

17. The sum of two ¢

b) 22
c) 23



d) 24

Imeter of arectangle is 30 and the length is 4 more than the width,
idth is:

ores 3x 0 marks,

22.1f4(x -2) =2(2x - 3),then x =7
b) 2

d) 4
Answer: a) 3



23. The equ

. Which of the following is NOT a solution of the equation 2x - 5 = 3x - 8?
=1
=-3
=0
=-5
wer: d) X & -

AN

The grapl&@liﬂéa?équa&ﬁ)lﬁsb)\/\bygz By mAap

ircle

arabola

traight Line

urve p

wer: c) Straight Line

The slope of the equation y = 3x - 7 is:

Answer: b) 3

28. If aline passes th

b) 3
Erl



d) 4
Answer: a) 2

=4x - 8is:

+ 2 represents a line that:

Answer: c) x <-2

34. The solutionto4dx +1 £ 9 is:
a)xs2



b)x22

wer: c) 8

The perimet tangleis f t cm re than twice
th, what is the width? '

em SOC» BADLO By map

cm
cm
cm
wer: a) p

A number is 5 more than three times another number. Their sum is 45. The
ller number is:

Answer: b) 12
39. If a student needs

a) 4x + 10 2 50
b) 4x + 10 < 50




c) 4x + 10> 50
d)4x +10<

wer: a

The solutio

wer: b)x =6
If2x +5 - X, then

44, The equation /X -
a) One solution

c) Infinite solutions

Answer: a) One solution



45. If 4(x - 3) = 2(2x - 1), then the equation is:
a) Always tr

wer: a) 5

5
The equatlon 3x +.2y 6 is written in slo e intercept form as:
=.32x + 3 b BA[)L By mAap
=-3x+2

=-3/2x +
= 3/2x -
wer: a) =3/2x + 3 ¥

The x-intercept of 2x - 4y = 8 is:

c) (2,6)
d) All of the above



Answer: d) All of the above

of 3x-4>8is:

wer: a)x<13

SOCrt BA[)LO uv WA & D

The meq][llty 4xv is eh:o




c) 14
d) 15

rental company charges $50 plus $10 per hour. If a customer can spend
hat is the maximum number of hours they can rent the car?

.a

A person
uality repre

ast 70 ed 4x + marks, whi
situatio \

x+10sOCri BADLO BY waap

>7

A farmer wants to fence a rectangular field. The perimeter should not exce
meters. If the length is twice the width, what is the maximum width possibl




Opposite / Adjacent
d) Hypotenuse / Opposite
wer: b) Adjacent / Hypotenuse

hat is th
pposite /' H /
djacent /Hyp »

pposite /Bdiayent p{ [ & DL O B Y WA AP

ypotenuse / Opposite

wer: ¢) Opposite nt \

hich of followingis equal ?

/ tan(0 ) P P
/ sin(0)

| cos(0)
n(6)

f an angl e?

a) V3 /2




6. If aright-angled triangle has hypotenuse = 10 cm and opposite side =6 cm,
what is sin(8)?2

wer: a) 3

he hypot&ueo@:\ fight-ddgi&d [r)algl@s 142 andddnetled'is 5 cm. Wh

other leg
Ocm
2cm

wer: b) 12cm

in(6) = 0.5, what is the angle 87?

a) Clockwise from North
b) Counterclockwise from South



c) Clockwise from East
d) Countercl e from West
kwise from North

sails 30° East of North. What is its bearing?

wer: c) 3 O°

If a car moves at a
orth

Answer: b) 8.66 m



17. The angle of elevation of the top of a tree is 45°. If the observer is 10 meters
away from th , What is the height of the tree?

er makes an angle of 30° with the ground. How far is the base

If the angle of depression from a lighthouse to a ship is 20° and the lightho
0 mete ' far is the shi ighth

A kite is flying at
the ground. What

d) Undefined

22. Which of the following is a Pythagorean identity?



a)sin?@ + cos@ =1

a) sin%0 + cos?0 =1

wer: a) 3

What is the r _ Je
(e
::<e> SOCrt BADLO BY wap

ec(0)

sc(0)
wer: d) csc(0)

If the opposite side is 7 cm and the hypotenuse is 25 cm, what is cos(0)?
4/25
125

27. If tan(6) = 5/12, then sin(8) =
b) 12/13

d) 1/2
Answer: a) 5/13



d triangle, the adjacent side is 9 cm, and the hypotenuse is 15

is the value of 8?

C v UA[)lO BY hA O D

What is t}e beanVe Ei

wer: b) 90°

boat sails 50° East of North. What is its bearing?

d) 230°

a) Northeast
b) Southwest



c) Northwest

height of th
Om
1.5m

sm SOC» BADLO By marp

Om
wer: b)11.5m
A tree c a shad 8 mete en tg_

. What is the height of the tree?
m
m

AN

sun

38. A building is 50 meters tall. The angle of depression from the top to a car is
a) 50 m

c) 100 m
d) 25 m



Answer: b) 86.6 m

g at a height of 40 meters. The string makes an angle of 60° with
hat is the length of the string?

12-meter shadow. If the angle of elevation of the sun is 60°,

The valuejof tan 9
ndefined
er: ¢) Undefined
b) 1/ cos(0)
d) sin(@) / cos(8)

44. What is the reciprocal of tan(6)?



a) cos(0)
b) sin(0)

ollowing is a correct trigonometric identity?

In aright-an

SOCrt BADLO BY wmap

A right-angled triangle has a hypotenuse of 10 cm and a base of 8 cm. Wha
height?

49. If sm(e) 3/5, what is tan(0)?
b) 4/3

d) 1
Answer: a) 3/4



50. In a right- d triangle, if the adjacent side is 5 cm and the opposite side is
e hypotenuse?

,20° West of North. What is its bearing?

. If a car is traveling at 90°, in which direction is it moving?

A person walks 60° East of South. What is their bearing?

Answer: ¢) 150°
55. If a ship travels 2

b) South
c) West



d) East
Answer: c)

0 meters leans against a wall, making an angle of 45° with the
high does it reach?

ion of the top of a tree is 60°. If the observer is 15 meters

Answer: b) 15V3 m

A flagpol
. How far i

ters high.
om the

SOCrt BADLO BY wmap

35m
A man s ing 50 meters aw tower

ation of 30°. What is the height of the tower?
8.87 m
5m

60. A kite is flying at a height of 50 meters, and the string makes an angle of 45°
a) 50 m

c)80m
d) 100 m



Answer: b) 70.7 m

er 7. Coordinate Geometry

)ates of the origin in the Cartesian plane are:

d) Any real number
wer: a) 0

he y-coordi ny point / )
el

SOCrt BADLO BY wmap

ny real number
wer: a)0

he point (3, -5) lies iRfwhich q

a) First quadrant

¢) Third quadrant

6. The distance between two points (X1, Y1) and (Xz, y2) is given by:



a) VI(Xz - X1)2 + (Y2 - Y1)4

a point lies Xis, its y a

SOCrt BADLO BY wmap

ny real number 7
SO0 5 5 \

If the distance between (5, -3) and (X, 2) is 10, then the value of x is:

11. The midpoint of two points (X4, y1) and (Xz, y2) is given by:

1 T X2)/2, (Y1
b) [(X1 - X2)/2, (y1 - Y2)/

d) [(X1 + X2), (Y1 + Y2)]
Answer: a) [(X1 + X2)/2, (Y1 +Y2)/2]



12. Find the int of the line segment joining (-2, 4) and (6, 8).

f (3, 5) and (x, 7) is (5, 6), then x =?

“14. The slope of a line passing through (X4, Y1) and (X2, y2) is given by:
2 - Y1)/ (X2 - Xq)

Y2 + Y1)
Y1-Y2)/(
1/ X2
wer: a) (Yz - 1) N

What is tiSst&éf'a‘verlléaﬂinE) LO By maarp

i
wer: b) Undefined

The slope of the line joining (3, 4) and (7, 8) is:

Answer: a) 1

17. If the slope of ali

b) Horizontal
c) Inclined at 45°




d) Perpendicular to x-axis
Answer: b) izohtal

as a slope of -3, it means:

\Jis decreasing

pn of a straight line is:

Answer: a)y =mx +c

If alin
=4x +5
=4x -5
-3=4(x+2)
+3=4(x +2)

wero)yBI-Ht BADLO BY waar

The x-axii and y-'idelate

AN

23. The coordinates of a point that lies on both the x-axis and y-axis are:



a) (1,1)
b) (0,0)

inate of a point is negative and the y-coordinate is also negative,
ich quadrant?

uation of the y-axis is:

: =2
What is the distance between the points (1,2) and (4,6)?

OQCrt BADLO BY wWap

ey &

The midpoint of (4, 8) and (10, 14) is:

c) (3,4
d) (-1, 8)



Answer: a) (1, 6)

ce between (x, 4) and (2, 6) is 5, find x.

ine segment joining (2, -3) and (5, -3) is:

31. The slope of the x-axis is:

ndefined

1
wer: a)0

AN

SOCrH BADLO BY map
If two lines are p eir sl e:
qual

egative rgciprocal

e slope of a line perpendicular to a line with slope 3 is:

a) Slopes upward from left to right
b) Slopes downward from left to right



c) Is horizontal
d) Is vertical

es downward from left to right

ope of aline passing through (2,3) and (5,9) is:

“d)y = 3x
Apgswer: a)y =5

ertical line

SOCH BADLO BY wap

=-4
The equatjon of al ith slo y-inte
=3x + &

=3x-2
=-3x +2

40. If a line has an equation y = -3x + 7, its slope is:



5
A point that Iles on the negative side of both axes is in which quadrant?

C 1ADLO BY map

The equation of the line passing through the origin with a slope of 5is:
= 5Xx

b) (3, 6)
c)(2,7)



d) (5, 4)
Answer: a)

nce between (-2, -3) and (4, 3) is:

2en (1, 1) and (4, 5) is:

circle with e

b) (x-1) +(y-2) = (x-5) +(y - 6)

d) x2 +y2 =25

51. If the slope of one line is 2/3, what is the slope of a line parallel to it?



a) 2/3
b) -3/2

of a line passing through (-2, 5) with slope -1 is:

wer: b)y

The slope of rpendicul
2

3 SOCr BAaDLO B Y

/2
2/3
wer: d) -2(3

If two lines are perpendicular, their slopes are:

qual

egative reciprocals
0

N

~

56. If three points (X1, Y1), (X2, Y2), and (Xs, y3) are collinear, then:

b) They form a triangl

d) Their sum is zero
Answer: a) They lie on the same straight line



57. If three 1,2), (3,4), and (5,6) are collinear, what is their slope?

iangle formed by points (X4, Y1), (X2, Y2), and (Xs, y3) iS zero,

*b) Collinear

59. The centroid of a triangle is the point where:

I angle bis
Il altitud
wer: a) AII medlans meet

Cri BADLO BY hA O D

The slop]of a Ilr\vg (41) iS

wer: a) 1

e coordinates of a point that lies on the y-axis are always in the form:

ayx>0,y>0
b)x<0,y>0



c)x<0,y<0
d) x>0,y <

,y <0

coordinates of a point are (a, b), its reflection across the x-axis is:

: constant
d) X - y = constant
Apswer: a) x = constant

The equa orizontal li
= constant
= constant

+y = constant

y=congakp C ¢t BADLO BY wAarp

wer: b)y =cons 3
The distance betwintlﬁ, 8) i

a) (1,
b) (3, 6)

d) (0, 5)

68. The midpoint of the line segment joining (7, 2) and (5, 8) is:



a) (6, 5)
b) (12, 10)

t of a segment is (3, 5) and one endpoint is (1, 4), what is the

Istance between two points (x, 2) and (4, 6) is 5, then x is:

The slope of the line passing through (2 3) and (6 7)is:

Crvi BADLO BY maar

LVYE

If the slope of aline is negative, it means:
he line is horizontal
line slopes downward from left to right

b\

c) -2/5
d) 2/5



Answer: a) -5/2

a horizontal line is:

ical line is:

a) Undefined

76. The equation of a line passing through (2, 5) with slope 3 is:

: ——,
2)
v BADLO BY mar

allel = + 3 ou

The equation of
=2x-3
=2x+1
=-2X +
=-2x -3
wer:b)y=2x+1

e equation of aline perpendicular to y = -4x + 2 passing through (1, 3) |

c)y =4x
dy-1=4(x-3)

ay=mx+c
b)x =my +c



c)y=cx+m
dy=mx-c

X+cC

equation of aline is 5x - 2y = 10, then its slope is:

SOCrt BADLO BY wmap

IVASEN




ter 8: Geometry of straight lines

as how many dimensions?

y points are needed to determine a unique straight line?

ersect a

Qne%” UA[)LO uv WA 4 D

arallel |II’I§
erpendlcula

two lines intersect, the number of common points they have is:

d) 180°
Answer: c) 90°



6. If two line arallel, their corresponding angles are:

| lines are cut by a transversal, alternate interior angles are:

If one angle of a linear pair is 110°, the other angle is:

Answer: c) 70°
11. A line that cuts tw

b) Perpendicular line
c) Parallel line



d) Tangent

45° angle with the x-axis has a slope of:

“Answer: b) 1

vertical, its
ndefined

If two lines are pe cular, ir slo
qual
egative reeiprocals

ositive reciprocals
omplementary
wer: b) Negative reciprocals

Answer: a)x =3

17. The equation of a horizontal line passing through (5,7) is:
a)y=5



shave the same equation, they are:

e reciprocals
ero
ndefined
wer: a

If the slope ines are

1 XMz =

erpendigular, then:

AN

iiﬂii%ocn BADLO BY marp

1 XMz = 7
. m' ‘e
If two p lines cuthb sal, 1 cons rior

les is:

22. If two parallel lines are cut by a transversal, alternate exterior angles are:

b) Supplementary

d) Unequal
Answer: ¢) Equal



23. The sum ngles formed at a point is:

\es are cut by a transversal and one of the alternate interior
e other alternate interior angle is:

If two intersecting lines form one angle of 75°, then its vertically opposite
leis:

Two lines that lie ame d do
erpendicular
arallel

oincident
ntersecting
wer: b) Parallel

egative reciprocals
c) Positive reciprocals

28. The equation of aline parallel toy = 3x + 4 is:
a)y=3x+2



b)y=-3x+4

ntersecting
oincident
wer: b

The equatio rizontal

=§ SOCrt BADLO BY Map

wer: a) -2
The eq of a vertical line hroug

a)Xx=m

C)y =c +mx?

Answer: b)y =mx +c



34. If the equation of aline is 2x - 3y = 6, its slope is:
a) 2/3

through (2,3) and has a slope of 4, its equation is:

es intersect if their slopes are:

: pead¥
The number of points at which two distinct parallel lines intersect is:

OCrt BADLO BY wap

If two lines have the same equation, they are:
arallel

a) Coincident lines

c) Skew lines
d) Parallel lines



Answer: c) Skew lines

4 sal intersects two parallel lines, then the number of angles formed
d)8
ds in how many directions?
swer: b) Two

The su interior angles | ineJds

0°

80° ,

70° \

60° _ ' i
Wer:b)15°0(..H BADLO By m2ap

The distance bet
Iways the same
aries
ero

nfinite
wer: a) Always the same

erpendicular
c¢) Coincident

Answer: a) Parallel

45. If aline has a negative slope, it moves:
a) Upward from left to right



b) Downward from left to right

ownward from left to right

el lines are cut by a transversal, then each pair of alternate interior

2 V... Pg

The sum of the interior an les on the same side of a transversal is:

C et A[)lo By wAap
80°

70°
00
wer: b) A

Two angles whose sum is 180° are called:
omplementary

lines are:

b) Parallel
c) Skew




d) Coincident
Answer: b) P

e of a line passing through (4,5) and (6,9) is:

ne in slope-intercept form is:

swer:a)y =mx +c

AN

OCrt BADLO BY wmap

The slope of the

ndefined
1
wer: ¢) Undefined

b)y
c)y-2=3(x-4)

Answer: a)y - 4 = 3(x

56. If the slopes of two lines are equal, the lines are:
a) Parallel



b) Perpendicular
c) Intersecti

wer: d).:

The equatio

=73 SOCrt tiA()tO By maarp

wer: a) X = -3
The poi ere twoilines me

ertex
ntersection point

a) Perpendlcular lines
c) Coincident lines

Answer: b) Parallel lines



62. If two lines are coincident, then they:

a) Have the s lope but different y-intercepts
t slopes

ame equation

rpendicular

Ve the same equation

a straight angle is:

mber of lines that can pass through two distinct points is:

If two angles are complementary, their sum is:

OQCrt BADLO BY map

If a transversal intersects two parallel lines, corresponding angles are:
qgual

same side of the tran

b) Supplementary
c) Complementary



es one angle 120° with one of two parallel lines, then the

If atrans I line, the e altern
rior angle i
50

o

5° SOCrt BADLO BY wmap

wer: a) 75°
The slo a line perpendic ine wit

a)y 2=4(x-1)
c)y=4x+1

Answer: a)y -2 =4(x - 1)




73. The slope of the liney =-3x + 7 is:
a) -3

of the line 2x - 5y =10 is:

uation of aline parallel toy =-2x + 5 is:
y=-2x-3

=2x+5
= -X +
=X-2
wer: a)y

If two Ilnes mtersect at aright an le, then their slopes are:

egative r&p CG.LSH A )lo By mAap

qual

he same

omplementary

wer: a) tive reciprocals P

The equation of a horizontal line passing through (7,-3) is:
=-3
-

c)y=-5
dy=4



Answer: a)x =-5

aline parallel to the x-axis is:

e perpendicular to the y-axis is:

Undefined

Sl UA[)lO bv _MM

The equaJ;on of tline thro s in the
i l

c) Perpendicular
Answer: b) Parallel

84. If two lines intersect at exactly one point, they are called:
a) Parallel



b) Perpendicular

tersecting

forms equal angles with the x-axis and y-axis has a slope of:

ndefined
WEr: Cs

If a transve the
responding
10°

0° SOCrt BADLO BY wmap

788 |

If two parallel lines are cut by a transversal, ‘the sum of co-interior angles is

80°

o

89. When a transversal cuts two parallel lines, alternate exterior angles are:

b) Supplementary

d) 180°
Answer: ¢) Equal



cuts two parallel lines and forms a 130° angle, the vertically

i e passing through (-3,4) and (5,2) is:

92, The equation of a line with slope -2 passing through (0,5) is:
=-2X
=2x-5
=-2X-5
=-Xx+2
wer: a) y =-2x+5

SOCrt UA[)LO uv WA & D

The slop] of a IlrvndlcuL‘.(BIZ

wer: b) -2/3

e equation of aline passing through (-2,3) and having slope 4 is:




c) -3
d) 1

lines have slopes 5 and -1/5, the lines are:

If two lin
arallel
erpendicula
oincident

kew S9OCrt BADLO B

wer: ¢) Coincide
The y-intercept o‘e 3X - is:

b) Intercept

d) Intersection point



9. Geometry And Polygons

ides and angles equal is called:

wer: a) Regular polygon

he sum of interior angles of a quadrilateral is:
80°
70°
60°
40°

werc)38°Q C vt HADLO BY wmAap

he sum of exterio of a onis
00

80°

70° a

60°
wer: d) 360°

AN

c) Nonagon

Answer: b) Octagon

a) Right triangle
b) Acute triangle



c) Obtuse triangle
d) Equilater i

gle
se triangle

mula for the sum of interior angles of an n-sided polygon is:
2) x 1€

20
wer: d) 72°

each int
riangle
quare
entagon

exagonSOC” BADLO BY wmAap

wer: ¢) Pentago
a polygon has 1¥thelme

AN

d) 180°

11. A polygon with at least one angle greater than 180° is called:



a) Convex polygon
b) Concave

) Concave polygon

m with four right angles and unequal sides is called:

ngruent triangles
wo trapeziums
wo rhombuses
wo pe
wer:a) T

A quadrilate
arallelog ram

hombus 3 QO C *t UA[)lO UV WA & P

rape2|
wer: c) T%pezmm ' l

In arhombus, the diagonals:

re equal

re perpendicular to each other
isect angles unequally

16. The number of diagonals in a hexagon is given by the formula:
b) n(n - 2)/2

d) n x 360°
Answer: a) n(n - 3)/2



in which diagonals are equal and bisect each other is:

jor angles of a decagon is:

AN

A regularSoQoG,'h&§ eadt eﬁe{iarhn@ of@b°¥rhe hémBerof sides of th

VA

wer: b) 12

e sum of interior angles of a pentagon is:

d) 180°

a) 120°
b) 135°



c) 140°
d) 150°

xterior angle of a regular polygon is 45°, the number of sides in the

wer: c¢) 156°
The nu of diagomals in a [

Answer: c) 9



28. A regular polygon with each interior angle of 120° is a:
a) Pentagon

with opposite sides parallel and equal diagonals is a:

re equal
re perpendicular to each other
iIsect

The number of diagonals in a hexagon is:

OCrH BADLO uv WA & D

i ¥ M

The sum of one interior angle and its corresponding exterior angle in any
gon is:

o

Answer: c) 180°

33. A regular polygon

b) 12
c) 15



ar quadrilateral, the measure of each exterior angle is:

h interior angle of a regular 20-sided polygon is:

“Answer: b) 162°

The su
70°
60°
40°
80°

Wer:b)35°0(..'H BADLO By m2ap

The total

erior angles

AN

umber

c) 25°
Answer: b) 20°

39. If a polygon has 9 sides, how many triangles can be formed by drawing
diagonals from one vertex?



a) 6
b) 7

ossible exterior angle of a regular polygon is:

eptadecagon
odeca
wer: b) |

The numhber alsin

SOCrt BADLO BY wmap

A regular polygon has each interior angle equal to 150° How many sides d
ave?

a) Convex polygon

c) Irregular polygon
d) Open polygon



Answer: a) Convex polygon

which two sides are equal is called:

)N has 18 sides, the measure of each exterior angle is:

72.5°
wer: d) 172 5°

SOCrt UA[)LO uv WA & D

The numier of mv regln w !fmo

wer: c) 9
e measure of each exterior angle of a regular decagon is:

a) 8640°
b) 9000°




c) 8640°
d) 7200°

drilateral with opposite sides equal and diagonals bisecting each other
t ang IS a:

wer: a

A quadrilat one pair -parallel gides equal i

AN

SOCrt BADLO BY wmap

osceles trapezi
wer: d) Isosceles ium
In a par ram, the opposi are:

qual
omplementary
upplementary
e of these

55. A'square Is always a:
a) Rectangle

c) Parallelogram

Answer: d) All of these



56. A regular polygon has 120° as each interior angle. How many sides does it
have?

)n with 16 sides has each exterior angle equal to:

he number of diagonals in an octagon is:

T
0
1
5
8

wer: a) 2 \

The total &r@e(ﬁf!rfangiés&)rﬁ%ib@rav“gﬂiaghfalﬁr&m one vertex

bas &

wer: c) 4

e number of sides in a polygon where the sum of interior angles is 9002

a) Decagon
b) Hexadecagon



c) Pentadecagon
d) Heptadec

onals in a

AN

SOCrt BADLO BY wmap

wer: a) 170
\
2 L —

b) Rectangle

d) Kite

67. A trapezium is a quadrilateral with:



a) One pair of opposite sides parallel
b) Two pairs osite sides parallel

io°
60°
50°
wer: c) 3

In a kite, whi followin
pposite sides are parallel r
iagonaIsSth Gachibthdd 2 DL O BY mA QD
ne diagonal bis ther i angle
Il angles are equ

wer: ¢) One diago isects t at rig

AN

The sum of the interior angles of a polygon with n sides is given by the
ula:
- 2) x 90°

o

c) 360°
d) 540°



Answer: c) 360°

7 of triangles formed by diagonals from one vertex in a heptagon

exterior angle equal to 20°. The number of sides in the

Answer: d) 18
The mea h interior
08°
20°
35°

50 SOCrt BADLO BY W ap

- b) 120°

wer: b) 120 3

A regular polygon an inte le of 14 w ma %
2 L —

AN

b) Adjacent angles are equal

d) All sides are equal

78. A polygon with an interior angle sum of 1980° has how many sides?



a) 10
b) 11

f sides in a polygon where each exterior angle is 72° is:

SOCrt BADLO BY wmap

IVASEN



strument is used to draw arcs and circles in practical geometry?
uler

b) Compass

>rotractor

Divider

swer: b) C

: . 4 e
hich tool'is used to measure and draw angles accurately?

uler SOQOCrt BADLO BY mAap

°rotractor

ompass
Divider
swer: b) tractor

\ perpendicular bisector of a line segment:
Divides it into three equal parts
asses through one of its endpoints

a) 90°
c

d) 360°
Answer: c) 180°




5. A triangle | three angles less than 90° is called:

ht-angled triangle, which method is most commonly used?

T A triangle can be constructed if:
hree sides are given
wo sid angle are giv,
wo angle
Il of thes

Answer: b) Compass and ruler
10. The shortest dista

b) A parallel line
c) A diagonal line



d) None of these

Answer: a) ndicular line

are perpendicular if they intersect at:

are cut by a transversal, which angles are equal?

b) Negative reciprocals

d) Zero

16. A quadrilateral can be constructed if we know:



a) Three sides and one diagonal
b) Four side ne diagonal
sides and three angles

d) All of these

square using a compass and ruler, we must:
d construct 90° angles
d mark the four points

erpendicular bisectors intersect
ngle bisectors intersect
[titude
wer: b)

The ince er

C vt UA[)lO uv WA & Db

S YAEN

A regular hexagon can be constructed using:
rotractor only
ompass only
ass and ruler

wer: c)

21. The instrument used to draw and measure straight lines is:
b) Compass

d) Set square
Answer: c) Ruler



60° angle without a protractor, we use:

pass

lowing angles cannot be constructed using only a compass

midpoint of

ith the seg
ivides th into thre .
parallel to t nt \

wer: a) Passes through the midpoint of the segment

SOC! BADLO BY Mar

The method of ¢ ng an f 90° usi m i Ives:
rawing a semicir marki sectio"

sing a protractor

rawing lare firs & b

easuring with a ruler
wer: a) Drawing a semicircle and marking intersections

triangle can always be constructed when given:

ny two angles ana one side
d) (b) and (c)

a) A compass
b) A protractor



c) A set square

Answer: b) Circumcenter

If the thr atriangle ruction m
ide-Angle- ) !
ngle-Side-A ) y, \

ide-Side-Side (SSS)
oneofthdD C vt BADLO BY wAap

S

wer: c) Side-Side=Si SS) -

A quadrilagteral can onstru e kno

our sid y < b
hree sides and a diagonal

wo diagonals and three angles

Il of these
er: d) All of these

additional information”
a) Square

c) Trapezium

Answer: d) General quadrilateral




33. The diagonals of a rhombus always:
r at right angles

atriangle divides each median in the ratio:

m of the interior angles of a quadrilateral is always:
0°

80°

Ji0°

60°
wer: d) 360 !
/ 5

The circumcircle of a triangle is the circle that:

asses thraudthe niidipoibts®f the §idks 3 ¥ WA &

asses through a ertic trian
ouches the sides point
[ enter
3 h all thr s of tf e

The point where the three angle bisectors of a triangle meet is called:

a) Passes through th

c) Lies outside the circle
d) Is parallel to the chord



Answer: a) Passes through the center of the circle

possible circle inside a triangle is called the:

ilateral, then its centroid, incenter, circumcenter, and

A com
raw angl
easure dis

inly used to:
raw arcelpy /m /

onstruct perpendicular lines

wer: ¢) D watcgandcirdles® DL O B Y wa oo

A set square is co ly use struct"
0°and 4
0°and 9 J

0°, 45°, 60°, and 90°
20° and 150°
wer: ¢) 30°, 45°, 60°, and 90°

c) Measuring with a ruler
Answer: b) Bisecting

44. The line that divides an angle into two equal parts is called:
a) Perpendicular bisector



b) Median

ngle bisector

an be uniquely constructed when:
one angle are given

given

)ne side are given

ometimes, if at least one side is known
nly if one angle is 90°
s, if at least o

ed:
edian
ngle bisector
endicular bisector

49. A triangle in which all angles are equal is called:
b) Scalene triangle

d) Right-angled triangle
Answer: c) Equilateral triangle



50. The circu er of a triangle is the point where:
le bisectors meet
perpendicular bisectors meet

and one diagonal
5 and one diagonal

. The sum of interior angles of any polygon with "n" sides is:
n - 2) x 180°

n - 2) x.902

x 180°

n +2) x 90° ,
wer: a) (n - / N

Inarhomﬁ:gll@nglés A2 DLO By mAap

ight angles !
gual but not neces y right
one of & b

wer: d) None of these

A square can be constructed if we know:
diagonal

ny one o
Answer: b) One side

55. If a transversal cu

b) Complementary
c) Equal



d) None of these

\non-parallel chords

of a circle is:

“Answer: c) A diameter

A line
secant
chord
radius

c) Scalene
Answer: b) Right-ang

61. The correct method to construct a 90° angle is:
a) Using a ruler and compass



b) Measuring directly with a protractor

c) Bisectin angle

micircle and marking intersections

rawing a semicircle and marking intersections

pdicular line to a given line can be constructed using:

gle bisector of the segment
he median of the segment
he altitude of the segment

The correct
raw a circle
easure half of the segment and mark a

oint
seacom odrdw arcﬁfr&m[bblhé By nmAap

one of these -
wer: ¢) Use a co omb
The loc points gquidista 0 para

circle 4
straight line in between
perpendicular bisector

a) Two angles and a side are known
c) Three angles are k

Answer: b) Two sides and an included angle are known



67. If we are given two angles and one side, we use which rule?

f atriangle divides each median in the ratio:

altitudes of a triangle always meet at the:
ncenter

ircumcenter

entroi
rthocent
wer: d) Ort

: e\
If a triangle is right-angled, its circumcenter lies:

sidethemiahdidl. *¢ A DLO By wtarp
utside the triang
n the hypotenuse

wer: c) e hypoténuse

A parallelogram can be constructed if we know:
wo adjacent sides and one diagonal
0 opposite angles and one diagonal

a) Constructing four

c) Using a protractor and a ruler
d) Measuring diagonals only



Answer: a) Constructing four equal sides

each other perpendicularly

)r angles of a quadrilateral is:

e81al and bisect each other

Crt BADLO BY maap

A circle can be c ed if y
nly the radius

nly the diameter

nly one d

ither (a) or (b)
wer: d) Either (a) or (b)

circle is tangent to two given lines, its center lies on:

d) Their circumcircle

a) Radius
b) Diameter



c) Tangent
d) Secant

erpendicular bisector of any chord in a circle always passes through:

AN

BADLO BY maarp




. Statistics is the branch of mathematics that deals with:
a) Geometry
Data collecti

anization, and analysis

LVl

he most frequently occurring value in a data set is called:

)\

edlan
jode

5. The difference between the highest and lowest values in a data set is called:
a) Mean



whole numbers
swer: b) Labels or categories
ata that can only take specific values (such as whole numbers) is called:

ontinu
I/m

iscreted
ata that cSn Qe(any Yalublwithih b ﬁar@ is GAlIGD: WA & D

iscrete data

rdinal data !

ontinuous data

ominal y < b

wer: ¢) Continuous data

The number of siblings a student has is an example of:
iscrete data
tinuous data

11. A bar graph is used to represent:
b) Discrete data

d) None of these
Answer: c) Both aand b



12. A histogram is different from a bar graph because:

paring categories
Displaying individual numbers
inding averages
wer: ata over tim
ents data

UA[)[O Bv

ols
The measure of thadl is i

wer: d) Variance
low standard deviation means the data values are:

d) Very large

18. A high range indi

b) More variation in data
c) No variation in data



d) A lower mean
Answer: b) riation in data

al or multimodal
no repeating values, the mode is:

Analyzing data
ollecting data
rganizi
rawing c
wer: b) Col ta
The term po in statisti
small selected group '

he entlre ﬁndbr‘stubﬁ'k DLO 8 Y M AP

p und
on sele alysis

b) Census
d) Data analysis

25. The process of arranging data in a meaningful order is called:
a) Data collection



b) Data sorting
c) Data organi

ization
ata organization
mean of three numbers 5, x, and 9 is 7, the value of x is:

aset are the same, the mean and median are:

swer: b) Equal
The mean of 6, 8, 10, 12, 14 is:

wer: b) 10

If the modp JEA datdset islis it hdahs QO B Y WA & 0

he mean is also

5is the most freq occur e |

5is the middle val

he ran L5 < b

wer: b) 15is the most frequently occurring value

If a dataset has an even number of observations, the median is:
he middle number

highest value

31. A frequency table is used to:
b) Show trends over t

d) Display data pictorially
Answer: a) Organize data into groups



32. The sum of all frequencies in a frequency distribution equals:
a) The mean

ber of observations

alculate the §hridardidevidtidh DL O B ¥ wt 4 b
wer: a) Display ing digi -
wer: b) 0

.5
e probability of an event always lies between:

d)1land 2

38. If a coin is tossed,

b) 0.5
c)0




d) 2
Answer: b) 0

led, the probability of getting an even number is:

playing cards, what is the probability of drawing a heart?

ethod of collecting data by personally visiting people and asking

\
C

The method Where data is collected without t interaction is called:

urvey Cert BADLO 67 & p

irect obs rvatlo
0
t observation

A random sample is one in which:
very member has an equal chance of selection
nly selected groups are included

researcher selects the sample manually

A

is called
b) Systematic sampli

d) Cluster sampling
Answer: c) Stratified sampling



45. The process of collecting data from already published sources is called:
a) Primary d

ata collection

ad out t

spread out the data
loser all values are to the mean

ata becomes constant

wer: a ad out the data..
The rang ta set 5, 8,

/ _'\
55 SOC* BADLO BY wmiap

wer: c)15(20-5
If all values inad

egative
nfinity
wer: a)0

e difference between a data value and the mean is called:

51. A box plot is used

b) Measures of dispersion
c) The distribution of a dataset



d) Only the mean and median
Answer:c) T iStribution of a dataset
polygon is a type of:

A scatter plo
rends over time

he relatioSsQ Between thb Parabies O B Y WA & P

requency.of dat
. \
ategorical data
wer: b) The relatio p betwe variabl
If a probability is 1, ifmeans: < b

he event is impossible

he event is certain

he event cannot happen
event is rare

b) 0.5

d) 2

58. If adice is rolled, what is the probability of getting a number greater than 4?
a) 1/3






